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T25%12 AKIRAE
TR25F128XKH BE CIIZES
HEE 5 = H X5 HEHH 58 z 5
BAAEEAAQD 26,750 34,704 37,107 71,811 BAAERAAQD 26,725 34,679 37,063 71,742
SNEAERAO 200 234 238 472 SNEAERAO 195 232 237 469
KENMAB 26,950 34,938 37,345 72,283 KENHAB 26,920 34,911 37,300 72,211
BARAGFE#HE - AOKFE (IBARZEHET) BXRAGRHH - AAKEE (BB
THU I R R i e 5 & 3 FTH I 4 BR R i 8 z 5 (BH#) (BEH)
AR EETHbiz AR EHET 1,060 1,426 1,414 2,840 B — Al =2 253 305 343 648 X% HEH 5 z it X5 HE L3 T S
KiEHhisg Kig 786 900 933 1,833 . ¥ /N 119 162 170 332 HeE—TH 794 889 1,001 1,890 wu&aE—THB 2 2 3 5
2 HT 75 Hh 15 PN ] 205 212 234 446 =H 111 146 158 304 WME-TH 554 671 751 1,422 WILE=-THE 0 0 0 0
ZA T B Hh 3 N 875 1,004 1,065 2,069 A T S B 71 92 105 197 WE=TH 261 332 380 712 WILE=TH 0 0 0 0
TR s TR 1,018 1,248 1,389 2,637 KEf 202 252 246 498 WEMTH 199 255 289 544 WILEMTHB 0 0 0 0
T/ E i H/E 471 558 608 1,166 EEFE 18 27 27 54 WEATH 776 1,044 1,162 2,206 BWILERTHB 0 0 0 0
K2 A EELW 190 229 265 494 FAFTET 176 178 216 394 FENARTH 86 115 119 234 WILEARTE 0 0 0 0
ma 105 159 155 314 T Hh i FhTET 127 142 160 302 W&EtTH 186 252 269 521 wWLUEtTH 106 150 161 311
T Hh i iR 255 320 368 688 At FET 130 176 164 340 HES—TH 0 wWILE/NTB 0 0 0 0
AR s ZAR 1L 93 104 139 243 Fa ET 175 218 261 479 HEEZTH 229 318 320 638 WILEATE 0 0 0 0
KE 822 967 990 1,957 iclii) 16 22 29 51 HEEB=TH 10 10 12 22 wua+TE 0 0 0 0
dt 2 [E iz dzE 438 508 517 1,025 i = Hhig Fh T 35 32 48 80 HEEMTH 0 wua+—TH 0 0 0 0
ot B st i 159 195 188 383 BRHET 103 116 129 245 HESRTH 287 356 400 756 BWuE+=TH 0 0 0 0
i) i 186 216 233 449 % 80 79 106 185 HEBARTH 174 230 249 479 BWUE+=TH 0 0 0 0
4 this He 2,856 3,558 3,971 7,529 RifiFE 140 158 192 350 HEELTH 341 404 448 852 INEt 108 152 164 316
HZE A Hhis HES 1,676 2,089 2,293 4,382 AR o ERE—TH 53 58 74 132 HES/NTH 376 485 528 1,013 =1 11,246 15,580 16,421 32,001
BEARZE)I &t Ki2)NE1~4TH 777 981 1,092 2,073 BRE_TH 284 330 366 696 HMESNLTH 259 286 336 622
a2 & Ki2)I185~9T B 1,492 2,349 2,358 4,707 ERE=TH 43 64 69 133 AZN&—TH 335 409 460 869
W R A thig MWERE 2,149 3,197 3,263 6,460 il 64 63 73 136 KEZJNEZTH 99 124 137 261
¥ 35 A Hhig mES 2,188 3,254 3,280 6,534 izt 36 25 39 64 KZJNE=TH 343 448 495 943
LA Hh i wIlE 108 152 164 316 it 39 52 57 109 KZJNEMTH 0
=11 17,909 23,626 24,919 48,545 hnyE R ER iz INGE 59 59 65 124 KENEBEETHE 243 410 394 804
INET 79 77 81 158 KZNEARTH 559 821 806 1,627 (FH)
AARAERHE- A O£ (IHILEE) §4 5 81 89 106 195 R2NEETH 326 505 520 1025 X5 s 4 5 % i
(LI EH 26 36 40 76 KENEBE/NTBE 364 613 638 1,251 mmEae—TH 164 212 220 432
1T 4 B R X 3 L 5 g &t HERE 104 112 131 243 KENEATE 0 EMXE=TH 141 156 183 339
5 F st tisE 181 254 308 562 fit] W} 117 154 158 312 MWREE—TH 486 748 719 1,467 EMEXE=TH 139 161 182 343
[Fap il 407 574 596 1,170 TR 101 115 148 263 MREEZTH 121 193 194 387 AmEemTH 116 132 152 284
A6 3 B #thig FEE 392 579 587 1,166 [i] 45 52 57 109 MEE=TH 239 355 377 732 EMXEETH 55 66 67 133
T E i MTE 654 882 910 1,792 HRIR Hhig H 32 38 41 79 MREMTH 261 356 392 748 mAMmXEaNTH 167 197 212 409
HEF 59 62 90 152 BRI 64 69 91 160 MWRERTH 256 394 401 795 mmEaetTH 150 188 213 401
= BE i deiAT R 131 180 196 376 IhEF 72 84 99 183 MWMEENRTH 298 433 426 859 mmxa/\TH 185 229 245 474
B 226 351 379 730 mp 36 46 53 99 MWREETH 267 417 422 839 mAMXaEATH 186 216 241 457
e 46 44 75 119 L3 G 38 4 49 90 MWRE/NTH 221 301 332 633 mmEae+THE 182 217 236 453
a1 51 74 86 160 aih 37 42 48 920 wmEE—TH 282 329 327 656 mEmnxeE+—TH 252 311 325 636
EI\2 130 165 212 377 B/ 13 17 18 35 BEE-TH 362 550 525 1,075 mEmnEe+=TH 215 292 294 586
IRt &R i £33 74 101 128 229 N 5 6 5 11 BEXE=TH 341 540 554 1,094 mmEae+=TH 153 187 203 390
tI\4 55 73 84 157 Gl 31 46 46 92 mBEEMTH 270 417 437 854 mEmnEE+mTH 122 155 178 333
a5 97 140 140 280 BTF 20 30 26 56 BEERTH 351 546 572 1,118 mAnEae+aETH 135 185 171 356
J:ij:6 148 178 197 375 L :H:;:T: 15 21 22 43 ziifﬂ‘ B 302 517 513 1,030 =1 2,362 2,904 3,122 6,026
@7 69 92 87 179 % 9 13 11 24 4tTH 280 355 352 707
LRt ithig EIA8 95 128 123 251 =2E 9 7 10 17 wmEE/NTH 0 0 0 0
ti¥a9 113 138 158 296 i35 6 6 5 11 INET 11,138 15,428 16,257 31,685
tJR10 89 112 133 245 PNy i 14 11 17 28
WEXN 24 23 21 44 it 30 44 51 95
= REX S 5 6 6 12 %53 48 57 77 134
LR 67 49 63 112 FIN% & g Emxs 2,362 2,904 3122 6,026
=11 3,113 4,205 4,579 8,784 =1l 5,728 6,873 7,609 14,482




